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Answer all questions on your writing paper.

Total Marks

Question 1 (8 marks)
Answer the following with a clear and concise sentence.
Iustrate with as diagram. ’

a) What are concurrent lines?

b) What are collinear points?

c) What are adjacent angles?

d) What are alternate angles?

Question 2 (13 marks) v

Find the value of the pronumeral in each of the following diagrams.
Give all reasons.

Copy diagrams for 2¢, d, e.

c)

80°

50°

— : ~ 3 -
B C D

Question 3 (9 marks)

a) Inthe diagram AD =4 cm, AC =5 cm,
BC=6cm, &/ADC= 90°

1) Copy the diagram and mark the

information on it.

ii) Find the area of AABC. B 6 c >
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b) As shown in the figure (which is not to scale), B and E lie on
the sides AC, DA respectively of AACD. Use the information
shown on the figure to find the value of x and hence give

C  ZACD in degrees. Give reasons for your answer.

c) For aparallelogram
1) State the definition of a parallelogram.
i) State three properties of a parallelogram.

Question 4 (10 marks)
a) In the diagram ABCDE is a régular pentagon and AB and DC
produced meet at X
i) Copy the diagram onto your answer sheet and find the
size of /ABC.
it) Find the size of / BCX giving reasons..

- C X

@DABCD is a quadrilateral.

: The diagonals AC and BD intersect at P.
AD =BCand AC=BD.
i) Copy the diagram and mark the information on it..
i) Show that triangles ABC and BAD are congruent.
1i1) Show that triangle ABP is isosceles.
1v) Hence show that triangle CDP is isosceles.
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Question 5 (15 marks)

a) ABCD is aparallelogram. AD = 12 cm, CE=4 cm
and BF =7 cm. :
i) Copy the diagram and mark the information.
i) Show that AABF is similar to AECEF.
i) Find the length of AB.

A B

D C E

b) Given AB//CD,CD //EF,AC=2m, CE=3m&DF=4m.
1) Draw a diagram and mark all the given information.
it) Find BF giving reasons.

7}( ABC is a triangle, right angled at A, and AD is drawn

¥/ perpendicular to BC.
AB=15cmand AD=12 cm.
1) On your answer sheet, draw a neat sketch and mark all the
given information.
11) Calculate the length of BD.
iii) Prove ABC is similar to DBA. 5
1v) Find the length of AC.

[N NS R

ju—y

[\S 2 S S

w-

W

A

W
&

R

~ kY
\;:




DAY (L ox (WA~
Cl) L{Or{"\{/{*&"v 2-/&4/‘-2/0 })m;m9
/6'1»‘9/’\/ Fhe Stz FD(W

s

\D,) W\ Asa ?cmwmw_ Z/ﬁ"é) =l [f"F//Df‘f*’f/@QfL
tloo 2 petass Al [e80) =58 (@5//65 v )
Lo N~ Lo & SM\'\TK'\;&* LABC = C-r So _

. S-S bt LAG = §6°
9 odyaan.x Raly, lngaee G Fye T30
OL LovAusn B O A d o S 35
s Vo a_d Lo a) A-

Sr— OTpPeS e Sdes o ,
%M5D~ LB =Ee® MﬁLQ MWWA z

3\) Nleo s baes Oge LAY = O*f" c?‘ii%/}

Crased by on WRASISoe2 /4Ch [C:M?‘LMC.
J’{“‘&- ol A it a.,\%/cg /‘J\Q (@g\'ﬁ—*ﬂa( T 5
ssibe S > %«r:ﬁ} Mfyj

o é‘}
s verrat | vl Yettpen. 0&" e
. A | B
2a) Law 2 FeamMo (Tmglesak w v
Aoy \35 =340 o Fai‘d jOK =§3° (2%? 4 u\ég
Rhow = 93y ° 23wy (‘R‘f‘l‘?"‘ .
A& = 1S = “~
e 50 2 = {6} )
) tebrs e 108> 4 [ahera i, :
Ab = lye- 3%)
%)D = gL a >
b o=§ g 3 C? MW)

: ep =
?> AAED - (-z‘"‘%/%,‘(‘gww
Rerac A ) = %ﬁ}v/éw
Rsee ARy =3




)8 F = jece [ a8 frce
/BA= ,&,r 2@\}2& alteirale
- | k /A7t = Jcre ‘ée?é%‘i‘éi/
2% 3,080 (13 «m) =Z¢0°

LARDY W ZALC,?(_‘Q%“W’}%

KGESTAN %Wa&—\’ng/ W %~Pr?

i b=
PN TOT =3¢c° e~z <=
&DQD‘ gﬁo AG 4™
;‘: o | L Y e
= QF’D
s S —~ EC 1»139 S a3
‘L /I\C D ::/876 — Lf(\/(éo = 3@' L‘(\?;Ls Agc i acadiel QC&(&M
C/> EN %O’Y” -lSZGC‘(M (/(;-;4_'7; ()
W AT N\ G u\{\f\v R =
bppsode Groas  QoemtioR AB =
- 2 L
{\) Dv@? e STdw- w e < .
ST ang e =&~
) et b SESTS .
) 48 =<is
E/ © <>
\ \)> 0 _ 4/ \f\ 8
D - - = / \%__,
— . 2,
225, Angle Sum = (+2)x90 > i %
= 3:(/-3@; y\) A< BD [Ineoqfy
,‘;QQO ce  DE| v
1/7\56:%—%@ 2 % (S
Y 3 -
:)Z&D (i;?&o« B =X <Y
! = logm prutegen _8
oA arfer o) 2%
[BC HOp° mo(;;:;@) CmE -9y
LECK = 750




